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POLYNOMIALS

Sums Of Enrich Remember

1. Find the degree of each of the polynomials given below:

> —z*+3

o Watch Video Solution

2. Find the degree of each of the polynomials given below :

2_y3+2y8



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mYZES15FKfFy
https://dl.doubtnut.com/l/_jLSwkZnemOKq

o Watch Video Solution

3. Find the degree of each of the polynomials given below :

2

o Watch Video Solution

4. Find the value of each of the following polynomials at the indicated
value of variables :

p(z) = 5z? — 3z + Tatx=1.

° Watch Video Solution

5. Find the value of each of the following polynomials at the indicated

value of variables :

qly) = 3y° — 4y + VIlaty=2.

| ° Watch Video Solution


https://dl.doubtnut.com/l/_jLSwkZnemOKq
https://dl.doubtnut.com/l/_u8FrxmZSlJ92
https://dl.doubtnut.com/l/_hLnwevQkObb6
https://dl.doubtnut.com/l/_hRItzi36wPdU

6. Find the value of each of the following polynomials at the indicated
value of variables :

p(t) = 4t* + 5t —t* + 6att=a.

o Watch Video Solution

7. Check whether -2 and 2 are zeroes of the polynomial x+2.

o Watch Video Solution

8. Find a zero of the of polynomial p(x) = 2x + 1.

o Watch Video Solution

9. Verify whether 2 and 0 are zeroes of the polynomial z? — 2z.

[ |


https://dl.doubtnut.com/l/_hRItzi36wPdU
https://dl.doubtnut.com/l/_OV5VQZUF4NKG
https://dl.doubtnut.com/l/_R5njIncLxrTN
https://dl.doubtnut.com/l/_s2U8qc1WKfqb
https://dl.doubtnut.com/l/_ODIf8RT1CO8B

| @ Watch Video Solution

10. Divide p(x) by g(x), where p(z) = = + 322 — 1 and g(z) =1+ z.

o Watch Video Solution

11. Divide the polynomial 3z* — 4z% — 3z — 1 by x-1.

o View Text Solution

12. Find the remainder obtained on dividing p(z) = 2> + 1 by x + 1.

° Watch Video Solution

13.Find the remainder when z* + 23 — 22% 4+ 2 + 1 s divide by x-1.

° View Text Solution



https://dl.doubtnut.com/l/_ODIf8RT1CO8B
https://dl.doubtnut.com/l/_w99Eo4a0qRwc
https://dl.doubtnut.com/l/_T1T9GTa2DVyk
https://dl.doubtnut.com/l/_mxXrWrGwo9O6
https://dl.doubtnut.com/l/_0wVwk5EEOaw5

14. Check whether the polynomial ¢(t) = 4t> +4t> —t —1 is a

multiple of 2t +1.

o View Text Solution

15. Examine whether x+2 is a factor of z° + 322 + 5z + 6 and of 2x +

4.

o View Text Solution

16. Find the value of k, if x-1is a factor of 4z% + 322 — 4z + k.

o Watch Video Solution

17. Factorise 6z> + 17z + 5 by splitting the middle term, and by using

the factor theorem.

| ﬂll',L,l,l'!,l,, o~ _01_ _a°*___


https://dl.doubtnut.com/l/_GLuFZhol9uJE
https://dl.doubtnut.com/l/_cNGd9XScmWhv
https://dl.doubtnut.com/l/_ENTwDMzbcumg
https://dl.doubtnut.com/l/_ouMIInlHapCD
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18. Factorise y? — 5y + 6 by using the factor theorm.

o Watch Video Solution

19. Factorise z° — 2322 + 142z — 120

o Watch Video Solution

20. Find the following products using appropriate identities :

(x + 3)(x+3)

o Watch Video Solution

21. Find the following products using appropriate identities :

(x-3)(x+5)



https://dl.doubtnut.com/l/_ouMIInlHapCD
https://dl.doubtnut.com/l/_WKfNoDz2xovh
https://dl.doubtnut.com/l/_lioUPcnTtEEq
https://dl.doubtnut.com/l/_P0H6RKdqdWzZ
https://dl.doubtnut.com/l/_XailHZzpubDE

| o Watch Video Solution

22. Evaluate 105 x 106 without multiplying directly.

o Watch Video Solution

23. Factorise :

49a® + T0ab + 25b°

o Watch Video Solution

24. Factorise :

25 2
D2 Y

4 9

o Watch Video Solution



https://dl.doubtnut.com/l/_XailHZzpubDE
https://dl.doubtnut.com/l/_XZRzMRQBoQeA
https://dl.doubtnut.com/l/_ldB45HjCPxcg
https://dl.doubtnut.com/l/_3o0KEOdiArGc

25. Write (3a + 4b + 5¢)° in expanded form.

o Watch Video Solution

26. Expand (4a — 2b — 3¢)*.

o Watch Video Solution

27.Factorise 4z% 4+ y? + 2?2 — day — 2yz + 4z 2.

o Watch Video Solution

28. Write the following cubes in the expanded form:

(3a + 4b)°

o Watch Video Solution



https://dl.doubtnut.com/l/_XcLvZA08t4pG
https://dl.doubtnut.com/l/_AFOqDOD8JcTZ
https://dl.doubtnut.com/l/_Wk2PfjRErGsa
https://dl.doubtnut.com/l/_ylSpwcl13IwV
https://dl.doubtnut.com/l/_itPCJFcWdpMK

29. Write the following cubes in the expanded form:

(5p — 3q)°

° Watch Video Solution

30. Evaluate each of the following using suitable identities :

(104)°

o Watch Video Solution

31. Evaluate each of the following using suitable identities :

(999)*

o Watch Video Solution

32. Factorise : 8z° + 27y> + 36z%y + 54xy?

o Watch Video Solution



https://dl.doubtnut.com/l/_itPCJFcWdpMK
https://dl.doubtnut.com/l/_A2bkHA81BOrG
https://dl.doubtnut.com/l/_alC4zLWWixcn
https://dl.doubtnut.com/l/_Gw1uvwUIe32x

33. Factorise : 8z% + y® + 272% — 18zyz

° View Text Solution

1. Which of the following experiences are polynomials in one variable
and which are not ? State reasons for your answer.

422 — 3z + 7

o Watch Video Solution

2. Which of the following experiences are polynomials in one variable

and which are not ? State reasons for your answer.

y2 + /2

| ° Wiak~h \idAaA CAliikian



https://dl.doubtnut.com/l/_Gw1uvwUIe32x
https://dl.doubtnut.com/l/_MS83cSyClSJs
https://dl.doubtnut.com/l/_IYb3ycwbtgPT
https://dl.doubtnut.com/l/_kTEjc0XLvS7k
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3. Which of the following experiences are polynomials in one variable

and which are not ? State reasons for your answer.

3Vt + /2

o Watch Video Solution

4. Which of the following experiences are polynomials in one variable

and which are not ? State reasons for your answer.

i
y —
y

o Watch Video Solution

5. Which of the following experiences are polynomials in one variable
and which are not ? State reasons for your answer.

.’1}10 +y3 + t50

| ° WAF_ L _ L vl e~


https://dl.doubtnut.com/l/_kTEjc0XLvS7k
https://dl.doubtnut.com/l/_I2MKbbsLLgh4
https://dl.doubtnut.com/l/_NAGzjds35Zm8
https://dl.doubtnut.com/l/_N6TNFWGyFvxh
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6. Write the coefficients of 2 in each of the following :

2—|—a:2—l—a:

o Watch Video Solution

7. Write the coefficients of 22 in each of the following :

2—a:2+:1:3

o Watch Video Solution

8. Write the coefficients of 2 in each of the following :

T
5:132—#:1:

° Watch Video Solution



https://dl.doubtnut.com/l/_N6TNFWGyFvxh
https://dl.doubtnut.com/l/_soIcbsRwgsrA
https://dl.doubtnut.com/l/_ecHAE3P2pGjt
https://dl.doubtnut.com/l/_a0qOJVKygVgh

9. Write the coefficients of 22 in each of the following :

V2z — 1

o Watch Video Solution

10. Give one example each of a binomial of degree 35 and of a

monomial of degree 100.

o Watch Video Solution

11. Write the degree of each of the following polynomials :

5> + 47> + Tz

o Watch Video Solution

12. Write the degree of each of the following polynomials :

4—y2


https://dl.doubtnut.com/l/_quzMKjvMu18F
https://dl.doubtnut.com/l/_9cIXGBSMx0Dc
https://dl.doubtnut.com/l/_scsL0Px6TkcZ
https://dl.doubtnut.com/l/_8LkrQuedxWhX

° Watch Video Solution

13. Write the degree of each of the following polynomials :

5t — /7

° Watch Video Solution

14. Write the degree of each of the following polynomials :

3

o Watch Video Solution

15. Classify the following as linear, quadratic and cubic polynomials :

a:2—|—a:

o Watch Video Solution



https://dl.doubtnut.com/l/_8LkrQuedxWhX
https://dl.doubtnut.com/l/_MEWLOoFXm4UL
https://dl.doubtnut.com/l/_vPHkTtlLLPq6
https://dl.doubtnut.com/l/_PVSPyTa5PH6L
https://dl.doubtnut.com/l/_uEmdw02G7Uki

16. Classify the following as linear, quadratic and cubic polynomials :

.’13—333

o Watch Video Solution

17. Classify the following as linear, quadratic and cubic polynomials :

y+y?+4

o Watch Video Solution

18. Classify the following as linear, quadratic and cubic polynomials :

1+ x

° Watch Video Solution

19. Classify the following as linear, quadratic and cubic polynomials :

3t



https://dl.doubtnut.com/l/_uEmdw02G7Uki
https://dl.doubtnut.com/l/_65HLcHBZa6yC
https://dl.doubtnut.com/l/_bgtIOHKWRn9e
https://dl.doubtnut.com/l/_UFhSMTqYhHp5

| @ Watch Video Solution

20. Classify the following as linear, quadratic and cubic polynomials :

7“2

o Watch Video Solution

21. Classify the following as linear, quadratic and cubic polynomials :

T3

° Watch Video Solution

1. Find the value of the polynomial 5z — 4z + 3at x = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_UFhSMTqYhHp5
https://dl.doubtnut.com/l/_u24PUUJez0Ex
https://dl.doubtnut.com/l/_q9L2PRcAqnql
https://dl.doubtnut.com/l/_5XGBbHUm9S7i

2.Find the value of the polynomial 5z — 4% + 3at x =-1.

o Watch Video Solution

3. Find the value of the polynomial 5z — 42> + 3at x=2.

° Watch Video Solution

4. Find p(0), p(1) and p(2) for each of the following polynomials :

p(y) =y —y+1

° Watch Video Solution

5. Find p(0), p(1) and p(2) for each of the following polynomials :

p(t) =2+t + 22 — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_vRU5Y2KSCbsg
https://dl.doubtnut.com/l/_B3uwe7UDhJmL
https://dl.doubtnut.com/l/_TSrIRP3dJSy9
https://dl.doubtnut.com/l/_7ngrUTdrKHbV

6. Find p(0), p(1) and p(2) for each of the following polynomials :

o Watch Video Solution

7.Find p(0), p(1) and p(2) for each of the following polynomials :

p(z) = (z —1)(z + 1)

o Watch Video Solution

8. Verify whether the following are zeroes of the polynomial, indicated

against them:

1
p(z) +3xz =12 = ~3

° View Text Solution



https://dl.doubtnut.com/l/_7ngrUTdrKHbV
https://dl.doubtnut.com/l/_U8XaNTTsVssM
https://dl.doubtnut.com/l/_bzMBiI2EByFC
https://dl.doubtnut.com/l/_S84q3Y4iTjRG

9. Verify whether the following are zeroes of the polynomial, indicated

against them:

p(x):5a:—7r,a::§

o Watch Video Solution

10. Verify whether the following are zeroes of the polynomial, indicated
against them:

pz) =z -1,z=1, — 1

o Watch Video Solution

11. Verify whether the following are zeroes of the polynomial, indicated

against them :

p(z) = (z+1)(z-2),z= —1,2

o Watch Video Solution



https://dl.doubtnut.com/l/_bUhFW4kIYeNO
https://dl.doubtnut.com/l/_igpKZKYgaAGc
https://dl.doubtnut.com/l/_bXAPX66SXz3A

12. Verify whether the following are zeroes of the polynomial, indicated

against them:

o Watch Video Solution

13. Verify whether the following are zeroes of the polynomial, indicated
against them:

p(z) =lz+m,z = —%

o Watch Video Solution

14. Verify whether the following are zeroes of the polynomial, indicated

against them:
1 2
V3 V3

p(z) =32 — 1,z = —

o Watch Video Solution



https://dl.doubtnut.com/l/_BSWbVIHvXJNT
https://dl.doubtnut.com/l/_PId643N2HHcX
https://dl.doubtnut.com/l/_YH95UXQffOU5

15. Verify whether the following are zeroes of the polynomial, indicated
against them:

1
p(x):2a:—|—1,3::§

o Watch Video Solution

16. Find the zero of the polynomial in each of the following cases :

p(z) =z +5

° Watch Video Solution

17. Find the zero of the polynomial in each of the following cases :

p(z) =z —5

o Watch Video Solution



https://dl.doubtnut.com/l/_ygEJvyguTalJ
https://dl.doubtnut.com/l/_0lSNiWnzSQ1D
https://dl.doubtnut.com/l/_IdqHkgw36cpa

18. Find the zero of the polynomial in each of the following cases :

p(z) =2z +5

o Watch Video Solution

19. Find the zero of the polynomial in each of the following cases :

p(z) =3z — 2

o Watch Video Solution

20. Find the zero of the polynomial in each of the following cases :

p(z) = 3z

o Watch Video Solution

21. Find the zero of the polynomial in each of the following cases :

p(il?) =az,a 70


https://dl.doubtnut.com/l/_IO5HgaWmjvcm
https://dl.doubtnut.com/l/_1NTamDVrgfz0
https://dl.doubtnut.com/l/_vGS7zbGfKNVE
https://dl.doubtnut.com/l/_JMxXqh3TuBzc

° Watch Video Solution

22.Find the zero of the polynomial in each of the following cases :

p(x) =cx+d,c # 0, x, d are real numbers.

o Watch Video Solution

1.Find the remainder when z* 4 32® + 3z + 1is divided by :

r+1

o Watch Video Solution

2.Find the remainder when z* + 322 + 3z + 1is divided by :
1

T3

| o WAF_L_ L vl e~


https://dl.doubtnut.com/l/_JMxXqh3TuBzc
https://dl.doubtnut.com/l/_9WL9U4UyHIWK
https://dl.doubtnut.com/l/_AgSPFM06m7ha
https://dl.doubtnut.com/l/_tiYz86CJkAao
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3. Find the remainder when z* + 322 + 3z + 1is divided by

o View Text Solution

4.Find the remainder when > + 3z? + 3z + 1is divided by:

-+

o View Text Solution

5.Find the remainder when > + 3z? + 3z + 1is divided by:

5+ 2z

° View Text Solution



https://dl.doubtnut.com/l/_tiYz86CJkAao
https://dl.doubtnut.com/l/_p1Suh4DxtAFd
https://dl.doubtnut.com/l/_4gpniGfTYE3h
https://dl.doubtnut.com/l/_BcCSY2QuALRA

3

6. Find the remainder when z* — az? + 6z — a is divided by x - a.

° View Text Solution

7. Check whether 7 + 3z is a factor of 322 + Tz.

° Watch Video Solution

1. Determine which of the following polynomials has (x+1) a factor :

x3—|—ar:2—|—w—|—1

° Watch Video Solution



https://dl.doubtnut.com/l/_M7FMn8jnqxi0
https://dl.doubtnut.com/l/_HkIAnzIJFyep
https://dl.doubtnut.com/l/_YmE8vpnuwQI0

2. Determine which of the following polynomials has (x+1) a factor :

:134—|—:c3—|—a:2~|—:v—|—1

o Watch Video Solution

3. Determine which of the following polynomials has (x+1) a factor :

x4—|—3az3~|—3a:2+a:+1

o Watch Video Solution

4. Determine which of the following polynomials has (x+1) a factor :

x3—x2—(2+\/§)w—l—\/§

o Watch Video Solution

5. Use the factor theorem to determine whether g(x) is a factor of p(x)

in each of the following cases :


https://dl.doubtnut.com/l/_RfGq4umlneVL
https://dl.doubtnut.com/l/_oVZkQM02v40S
https://dl.doubtnut.com/l/_jcwXkiXe1T83
https://dl.doubtnut.com/l/_AcJBjEEdgLpI

p(z) = 22> + 2* — 22 — 1

o View Text Solution

6. Use the factor theorem to determine whether g(x) is a factor of p(x)
in each of the following cases :

p(z) + 2>+ 32> +3z +1,9(z) = = + 2

o View Text Solution

7. Use the factor theorem to determine whether g(x) is a factor of p(x)

in each of the following cases :

p(z) =2 — 42> +z +6,g(x) =2 — 3

° View Text Solution



https://dl.doubtnut.com/l/_AcJBjEEdgLpI
https://dl.doubtnut.com/l/_w1bokGdK7x9v
https://dl.doubtnut.com/l/_3Xb78bYHdtcd

8. Find the value of k, if x-1 is a factor of p(x) in each of the following
cases :

p(z) =z 4+z+k

o Watch Video Solution

9. Find the value of k, if x-1 is a factor of p(x) in each of the following

cases :

p(z) = 22° + kx + /2

o Watch Video Solution

10. Find the value of k, if x-1 is a factor of p(x) in each of the following

cases :

p(z) = kz? — 2z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_QXe7XvA79u7E
https://dl.doubtnut.com/l/_fWfO94c7Q4Bj
https://dl.doubtnut.com/l/_ko5EYNLj0097

11. Find the value of k, if x-1 is a factor of p(x) in each of the following
cases :

p(z) = kx* — 3z + k

o Watch Video Solution

12. Factorise :

1222 — 72 + 1

° Watch Video Solution

13. Factorise :

222 + Tz + 3

° Watch Video Solution



https://dl.doubtnut.com/l/_huk8ujHaXglG
https://dl.doubtnut.com/l/_6YgnddOVIZlX
https://dl.doubtnut.com/l/_AeysQ0icMg0B

14. Factorise :

6x2 + 5z — 6

o Watch Video Solution

15. Factorise :

322 —z — 4

o Watch Video Solution

16. Factorise :

x3—2:1:2—as—|—2

o View Text Solution

17. Factorise :

22— 322 -9z -5


https://dl.doubtnut.com/l/_6Gyuu6NLYHLd
https://dl.doubtnut.com/l/_4cKOmgGd1dce
https://dl.doubtnut.com/l/_jrYJnkgNOhDM
https://dl.doubtnut.com/l/_XsiGuloXYVBf

o View Text Solution

18. Factorise :

22 + 1322 + 32z + 20

° View Text Solution

19. Factorise :

2y3—|—y2—2y—1

o View Text Solution

1. Use suitable identities to find the following products :

(z + 4)(z + 10)

| o WAF_a_ L vt e~


https://dl.doubtnut.com/l/_XsiGuloXYVBf
https://dl.doubtnut.com/l/_BIXUpYdsK5pk
https://dl.doubtnut.com/l/_Qc5VnQfvZy69
https://dl.doubtnut.com/l/_zRHHJlU4RXwB
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2. Use suitable identities to find the following products :

(z + 8)(z — 10)

o Watch Video Solution

3. Use suitable identities to find the following products :

(3z + 4)(3z — 5)

o Watch Video Solution

4. Use suitable identities of find the following products

-3

° Watch Video Solution



https://dl.doubtnut.com/l/_zRHHJlU4RXwB
https://dl.doubtnut.com/l/_iIw5RCgrpCwh
https://dl.doubtnut.com/l/_HW4tt7ZhLyDJ
https://dl.doubtnut.com/l/_0SBETl9SRG6t

5. Use suitable identities to find the following products :

(3 —2z)(3 + 2z2)

o Watch Video Solution

6. Evaluate the following products without multiplying directly :

103 x 107

o Watch Video Solution

7. Evaluate the following products without multiplying directly :

95 x 96

o Watch Video Solution

8. Evaluate the following products without multiplying directly :

104 x 96


https://dl.doubtnut.com/l/_B3bWk7vDkd7l
https://dl.doubtnut.com/l/_hX57fuUD3wa5
https://dl.doubtnut.com/l/_OnMgana2YE0F
https://dl.doubtnut.com/l/_Kv8g4itRX0pi

° Watch Video Solution

9. Factorise the following using appropriate identities :

922 + 6zy + y?

° View Text Solution

10. Factorise the following using appropriate identities :

4y? — 4y +1

o Watch Video Solution

11. Factorise the following using appropriate identities :

2
Y
r? — —

100

o Watch Video Solution



https://dl.doubtnut.com/l/_Kv8g4itRX0pi
https://dl.doubtnut.com/l/_JyBG3hN2pjM5
https://dl.doubtnut.com/l/_n4BOsLgmHOEo
https://dl.doubtnut.com/l/_Gw870hYhw36N
https://dl.doubtnut.com/l/_xkayx5fpSH5J

12. Expand each of the following using suitable identities :

(z + 2z + 4,2)2

o Watch Video Solution

13. Expand each of the following using suitable identities :

(22 —y+2)°

o Watch Video Solution

14. Expand each of the following using suitable identities :

(—2;1:#—3,1;—|—2z)2

o Watch Video Solution

15. Expand each of the following using suitable identities :

(3a — b — c)2



https://dl.doubtnut.com/l/_xkayx5fpSH5J
https://dl.doubtnut.com/l/_qMskBEsI9ijT
https://dl.doubtnut.com/l/_7uIr736oC9Bf
https://dl.doubtnut.com/l/_KQwULvHrn7rj

| o Watch Video Solution

16. Expand each of the following using suitable identities :

(—2:1:—|—5'y—3z)2

o Watch Video Solution

17. Expand each of the following using suitable identities :

L 1b+12
14773

° Watch Video Solution

18. Factorise :

4% + 9y® + 1622 + 122y — 24yz — 1622

° Watch Video Solution



https://dl.doubtnut.com/l/_KQwULvHrn7rj
https://dl.doubtnut.com/l/_nulYsjE47EFA
https://dl.doubtnut.com/l/_fWYqGslC6UNb
https://dl.doubtnut.com/l/_nTWPbtL5g0Pv
https://dl.doubtnut.com/l/_CcpBPMBaHCZi

19. Factorise :

222 + y? + 822 — 2\/2zy + 4/ 2yz — 8z 2

o Watch Video Solution

20. Write the following cubes in expanded form:

(2z 4+ 1)°

o Watch Video Solution

21. Write the following cubes in expanded form :

(2a — 3b)°

° Watch Video Solution

22. Write the following cubes in expanded form:

3
[gw + 1}



https://dl.doubtnut.com/l/_CcpBPMBaHCZi
https://dl.doubtnut.com/l/_aqKDjXvjxEHj
https://dl.doubtnut.com/l/_YcfncRdSEGFK
https://dl.doubtnut.com/l/_oZQXBAkOGQYO

| o Watch Video Solution

23. Write the following cubes in expanded form:

-3

o Watch Video Solution

24, Evaluate the following uing suitable identities :

(99)°

o Watch Video Solution

25. Evaluate the following uing suitable identities :

(102)*

° Watch Video Solution



https://dl.doubtnut.com/l/_oZQXBAkOGQYO
https://dl.doubtnut.com/l/_DhR7s6jAbuII
https://dl.doubtnut.com/l/_GYjoqKXp80DV
https://dl.doubtnut.com/l/_JeAFPKR7pUee
https://dl.doubtnut.com/l/_AXO9tw3LuJIY

26. Evaluate the following uing suitable identities :

(998)*

o Watch Video Solution

27. Factorise each of the following
(1)8a® + b® + 12a® + 6ab’
(ii) 8a® — b° — 12a’b + 6ab”
(iii) 1 — 64a® — 12a + 48a°
12 6 1

. 3__2 e
(V) 8" — =p" + 55p — 755

o Watch Video Solution

28. Factorise each of the following
(1)8a® + b® + 12a® + 6ab’
(ii) 8a® — b* — 12a%b + 6ab®
(iii) 1 — 64a® — 12a + 48a°
12 6 1

. 3__2 e
(V) 8" — =p" + 55p — 755


https://dl.doubtnut.com/l/_AXO9tw3LuJIY
https://dl.doubtnut.com/l/_N7iYVrCdFXj2
https://dl.doubtnut.com/l/_XgHy7fKE556Y

° Watch Video Solution

29. Factorise each of the following :

27 — 125a° — 135a + 225a>

° Watch Video Solution

30. Factorise each of the following :

64a® — 27b° — 144a’b + 108ab?

o Watch Video Solution

31. Factorise each of the following :

ot ]
P =916 " 2P TP

o Watch Video Solution



https://dl.doubtnut.com/l/_XgHy7fKE556Y
https://dl.doubtnut.com/l/_zxdsvdNTtpYa
https://dl.doubtnut.com/l/_bEp2KvkdO6hW
https://dl.doubtnut.com/l/_JfbgNAQgbX3R
https://dl.doubtnut.com/l/_NGUaATyGrUpt

32. Verify

()2 +1* = (¢ +9) (2 — 2y + 1)

(i)a® —y® = (z —y) (.’E2 + xy + y2)

using some non-zone positive integers and check by actual

multiplication. Can you call these as identities ?

o Watch Video Solution

33. Verify

)2’ +1* = (¢ +9) (2 — 2y + )

(i) z* — y* = (¢ — y)(a* + 2y + ¥

using some non-zone positive integers and check by actual

multiplication. Can you call these as identities ?

o Watch Video Solution

34. Factorise each of the following :

27y% + 1252°


https://dl.doubtnut.com/l/_NGUaATyGrUpt
https://dl.doubtnut.com/l/_fmfrP6cLBHYv
https://dl.doubtnut.com/l/_jHKOqHmiP8EY

o Watch Video Solution

35. Factorise each of the following :

64m> — 343n°

° Watch Video Solution

36. Factorise 27z% + y® + 23 — 9zyz using identitiy.

° Watch Video Solution

37. Verify that

1
z® +y® + 2% - 3ryz = E(w—l—y—i-z)[(x—y)2—|—(y—z)2—l—(z—x)2]

o Watch Video Solution



https://dl.doubtnut.com/l/_jHKOqHmiP8EY
https://dl.doubtnut.com/l/_SQcqg8i0hrql
https://dl.doubtnut.com/l/_fjkPoeNgqTNY
https://dl.doubtnut.com/l/_358g1mL6Dw69

38.(a) Ife +y+ z = 0, showthat > + 3* + 2° = 3zyz.
(b) Show that

(a—b)>+(b—0¢)’+(c—a)®=3>a—b)b-c)(c—a)

o Watch Video Solution

39. Without actually calculating the cubes, find the value of each of the
following :

(—12)° +(7)° + (5)°

o View Text Solution

40. Without actually calculating the cubes, find the value of each of the
following :

(28)% + (—15)* + ( —13)®

o Watch Video Solution



https://dl.doubtnut.com/l/_J4bFPRFF9t5z
https://dl.doubtnut.com/l/_Mrxo9djDClYh
https://dl.doubtnut.com/l/_lJDfspH78QEd

41. Gi ven possible expressions for the length and breadth of the
rectangle whose area is given by
(i) 4a® + 4a — 3

(i)25a — 35a + 12

o Watch Video Solution

42. Give possible expressions for the length and breadth of each of the
following reactangles in which their areas are given :

Area: 35y° + 13y — 12

o Watch Video Solution

43. What are the possible polynomial expressions for the dimensions
of the cuboids whose volumes are given below ?
(i) 3z* — 122

(i12y? + 8y — 20.



https://dl.doubtnut.com/l/_TIoKraONp3VF
https://dl.doubtnut.com/l/_tDjqY6354L6H
https://dl.doubtnut.com/l/_W2cJzWMQqcj1

| ° Watch Video Solution

Skill Testing Exercise

1. State which of the following expressions are a polynomial in one

variable and which are not :

502 — 3z + 7

o Watch Video Solution

2. State which of the following expressions are a polynomial in one
variable and which are not :

1622 — 49y>

° Watch Video Solution



https://dl.doubtnut.com/l/_W2cJzWMQqcj1
https://dl.doubtnut.com/l/_gqRKL4S1ZSyg
https://dl.doubtnut.com/l/_xFz4JYuiVtRM

3. State which of the following expressions are a polynomial in one
variable and which are not :

5
Vi + §£L‘2 — 9z + 17

o Watch Video Solution

4. State which of the following expressions are a polynomial in one
variable and which are not :

Tt — 5t + 3

o Watch Video Solution

5. State which of the following expressions are a polynomial in one
variable and which are not :

2 +y° + 23 — 3zyz

o Watch Video Solution



https://dl.doubtnut.com/l/_G5VpPFnC0Vhs
https://dl.doubtnut.com/l/_Bbf96nGfeUuU
https://dl.doubtnut.com/l/_PiehfqZKZv2S

6. State the coefficient of 22 in each of the following polynomials :

— 322 + 5z + 11

o Watch Video Solution

7. State the coefficient of z? in each of the following polynomials :

S B P
2% T 4"

o Watch Video Solution

8. State the coefficient of 22 in each of the following polynomials :

a:3—|—3:c2—1—3a:—|—1

o Watch Video Solution

9. State the coefficient of 22 in each of the following polynomials :

V22E 4 T — 442


https://dl.doubtnut.com/l/_ONJciJwy4FsB
https://dl.doubtnut.com/l/_eTRIFpYRTPR3
https://dl.doubtnut.com/l/_Qq3VoWW5ktd9
https://dl.doubtnut.com/l/_GBpZKl7XwxSY

° Watch Video Solution

10. State the coefficient of 2 in each of the following polynomials :

x4+5a:3—|—7rx2—3m—|—11

o Watch Video Solution

11. Give one example of a binomial of degree 50 and a monomial of

degree 80.

o Watch Video Solution

12. State the degree of each the following polynomials :

43 + 222 — 52 + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_GBpZKl7XwxSY
https://dl.doubtnut.com/l/_5j6jMAt2RFrh
https://dl.doubtnut.com/l/_PkFXt6fiQUax
https://dl.doubtnut.com/l/_NMdKQ8cjYakq
https://dl.doubtnut.com/l/_zVd3wUi26ZYw

13. State the degree of each the following polynomials :

1
\/ﬁmz—5az3+7x+z

o Watch Video Solution

14. State the degree of each the following polynomials :

5— 4z + 2

o Watch Video Solution

15. State the degree of each the following polynomials :

mx® + 5x° + 7x? — 12

° Watch Video Solution

16. State the degree of each the following polynomials :

81 — 16z>

[ o


https://dl.doubtnut.com/l/_zVd3wUi26ZYw
https://dl.doubtnut.com/l/_HvXakMY3Rjkr
https://dl.doubtnut.com/l/_d9ENOamdZUfZ
https://dl.doubtnut.com/l/_mwzEOwKUTIu0

| @ Watch Video Solution

17. Classify the following polynomials into linear quadratic and cubic
polynomials :

5¢ — 3

o Watch Video Solution

18. Classify the following polynomials into linear quadratic and cubic
polynomials :

222 + 11z — 9

o Watch Video Solution

19. Classify the following polynomials into linear quadratic and cubic

polynomials :

8x3 — 27



https://dl.doubtnut.com/l/_mwzEOwKUTIu0
https://dl.doubtnut.com/l/_IoX5UmD0FqKy
https://dl.doubtnut.com/l/_qOroEQwfMLng
https://dl.doubtnut.com/l/_Ecjtn7Xgw0Hk

| o Watch Video Solution

20. Classify the following polynomials into linear quadratic and cubic
polynomials :

4z — 922 + 3

° Watch Video Solution

21. Classify the following polynomials into linear quadratic and cubic
polynomials :

ot2

o Watch Video Solution

22. Classify the following polynomials into linear quadratic and cubic
polynomials :

2723



https://dl.doubtnut.com/l/_Ecjtn7Xgw0Hk
https://dl.doubtnut.com/l/_ZTPvXNGyQAHQ
https://dl.doubtnut.com/l/_1cft8ORd1Mga
https://dl.doubtnut.com/l/_mWC6GqRsGggW

| o Watch Video Solution

23. Classify the following polynomials into linear quadratic and cubic
polynomials :

7— 3z

o Watch Video Solution

24. Classify the following polynomials into linear quadratic and cubic

polynomials :

4y

° Watch Video Solution

25. Find the value of the polynomial z* — 7z + 12 at :

x=1

° Watch Video Solution



https://dl.doubtnut.com/l/_mWC6GqRsGggW
https://dl.doubtnut.com/l/_8hdf0P12Gg42
https://dl.doubtnut.com/l/_MVLfpFp5z0q9
https://dl.doubtnut.com/l/_SJk75weCgY7n

26. Find the value of the polynomial > — 7z + 12 at :

x=3

o Watch Video Solution

27.Find the value of the polynomial z* — 7z + 12 at :

x=5

° Watch Video Solution

28. Find the value of the polynomial z? — 7z + 12 at :

x=0

° Watch Video Solution



https://dl.doubtnut.com/l/_SJk75weCgY7n
https://dl.doubtnut.com/l/_rvL3STj7bfNi
https://dl.doubtnut.com/l/_hNLoL4b0O2Wo
https://dl.doubtnut.com/l/_qOCpP5r0hZ1K

29. For each of the following polynomials, find p(0), p(1) and p(3) :

p(z) = 2> — 4z + 3

o Watch Video Solution

30. For each of the following polynomials, find p(0), p(1) and p(3) :

p(y) =y° -9

o Watch Video Solution

31. For each of the following polynomials, find p(0), p(1) and p(3) :

1
p(x) = gazz +4z — 1

o Watch Video Solution

32. For each of the following polynomials, find p(0), p(1) and p(3) :

p(z) =t +22 +t—4


https://dl.doubtnut.com/l/_ubDCg2nY2E0g
https://dl.doubtnut.com/l/_jSbP9lzrkiZC
https://dl.doubtnut.com/l/_qfmwcHIXDpSt
https://dl.doubtnut.com/l/_8nXEwSToBH2t

o Watch Video Solution

33. Check whether the value of x given against each polynomial is a
zero of that polynomial or not :

p(z) =z* -5z +4,z=1,4

o Watch Video Solution

34. Check whether the value of x given against each polynomial is a

zero of that polynomial or not :

1
p(a:):4zc—1,a::4,z

o Watch Video Solution

35. Check whether the value of x given against each polynomial is a
zero of that polynomial or not :

pz) =z 4+Tx+6,z= —1, — 6


https://dl.doubtnut.com/l/_8nXEwSToBH2t
https://dl.doubtnut.com/l/_ZOB8e63zvR21
https://dl.doubtnut.com/l/_N0CohncTk6XU
https://dl.doubtnut.com/l/_sbcdKsgVaETf

o Watch Video Solution

36. Check whether the value of x given against each polynomial is a
zero of that polynomial or not :

pz)=z*+22 —z-2,2=1, -1, —2,2

o Watch Video Solution

37. Check whether the value of x given against each polynomial is a
zero of that polynomial or not :

p(z) = x® — 8z + 15,z = 3,5

o Watch Video Solution

38.Find the zero of each of the following polynomials :

p(z) =4 — 7

| ° Watch Video Solution


https://dl.doubtnut.com/l/_sbcdKsgVaETf
https://dl.doubtnut.com/l/_hVeQkmO20MXG
https://dl.doubtnut.com/l/_s3F8HI1OvnC7
https://dl.doubtnut.com/l/_kVtSykFdBryh

39. Find the zero of each of the following polynomials :

p(z) =3z +5

o Watch Video Solution

40. Find the zero of each of the following polynomials :

p(y) = 11y — 4

o Watch Video Solution

41. Find the zero of each of the following polynomials :

p(t) =7nt+7

° Watch Video Solution



https://dl.doubtnut.com/l/_kVtSykFdBryh
https://dl.doubtnut.com/l/_xHuim0nHtZCU
https://dl.doubtnut.com/l/_A4gl2dXqWjaV
https://dl.doubtnut.com/l/_32akIUN3txm6

42.Find the zero of each of the following polynomials :

p(z) = — 3z + 8

o Watch Video Solution

43. Find the zero of each of the following polynomials :

2 5

p(z) = g2 — ¢

o Watch Video Solution

44, Divide the polynomial z? — 10z + 21 by each of the following
divisors and find the remember in each case :

X+ 2

o Watch Video Solution



https://dl.doubtnut.com/l/_g2xNqdLPuCm1
https://dl.doubtnut.com/l/_NJvEFUROsdp6
https://dl.doubtnut.com/l/_KhWGTVSaFvEv

45. Divide the polynomial 2> — 10z + 21 by each of the following
divisors and find the remember in each case :

X-3

o Watch Video Solution

46. Divide the polynomial 2> — 10z + 21 by each of the following
divisors and find the remember in each case:

X+ 5

o Watch Video Solution

47. Divide the polynomial z? — 10z + 21 by each of the following
divisors and find the remember in each case:

X-7

o Watch Video Solution



https://dl.doubtnut.com/l/_5M8af55qIX5T
https://dl.doubtnut.com/l/_P079EqOXKbnk
https://dl.doubtnut.com/l/_cuVJCWlzfAuk

48. Divide the polynomial > — 422 + 3z + 1 by each of the following
divisors and find the remainder in each case :

X-1

o Watch Video Solution

49. Divide the polynomial > — 422 + 3z + 1 by each of the following
divisors and find the remainder in each case :

x+1

o Watch Video Solution

50. Divide the polynomial > — 422 + 3z + 1 by each of the following
divisors and find the remainder in each case:

x-3

o Watch Video Solution



https://dl.doubtnut.com/l/_nG1Evsn3ibDL
https://dl.doubtnut.com/l/_arDbEGetuUSS
https://dl.doubtnut.com/l/_YnnnyExNhHdh

51. Divide the polynomial z® — 42% + 3z + 1 by each of the following
divisors and find the remainder in each case :

x+4

o Watch Video Solution

52. With the help of the remainder theorem, find the remainder when
the polynomial 2® + 22% — 42 — 6 is divided by each of the following
divisors :

X-1

o Watch Video Solution

53. With the help of the remainder theorem, find the remainder when
the polynomial z® + 22% — 42 — 6 is divided by each of the following
divisors :

x+1



https://dl.doubtnut.com/l/_i6ZBSO8kz5lO
https://dl.doubtnut.com/l/_FCdsntxXyF28
https://dl.doubtnut.com/l/_OjkHZF1AD0XK

| o Watch Video Solution

54. With the help of the remainder theorem, find the remainder when
the polynomial z® + 22% — 4z — 6 is divided by each of the following
divisors :

X-2

° Watch Video Solution

55. With the help of the remainder theorem, find the remainder when
the polynomial 2® + 222 — 4z — 6 is divided by each of the following
divisors :

X+2

o Watch Video Solution



https://dl.doubtnut.com/l/_OjkHZF1AD0XK
https://dl.doubtnut.com/l/_FGQpH2NA0Yew
https://dl.doubtnut.com/l/_2rjx9YOvpUZU

56. With the help of the remainder theorem, find the remainder when
the polynomial z® + 22% — 42 — 6 is divided by each of the following
divisors :

x-3

o Watch Video Solution

57. With the help of the remainder theorem, find the remainder when
the polynomial z® + 2z% — 4z — 6 is divided by each of the following
divisors :

X+3

o Watch Video Solution

58.1f x +2 is a factor of z° + az? + 11z + 6, find the value of a.

o Watch Video Solution



https://dl.doubtnut.com/l/_RC3VIw3pVtfj
https://dl.doubtnut.com/l/_SXuDbCxRl7nQ
https://dl.doubtnut.com/l/_HWdbiwVppDoN

3

59. Find the remainder when 2 — az? + 8z — a is divided by x-a.

° Watch Video Solution

60. Check whether 5x +1is a factor of 5z + 26z + 35x -+ 6 or not.

° Watch Video Solution

61. Check whether x-1is a factor of 3 + 622 — 2z — 5 or not.

o Watch Video Solution

62. Check whether x=1is a factor of z* + 922 — 4z — 12 or not.

° Watch Video Solution



https://dl.doubtnut.com/l/_LZ2Fa1ld2gb4
https://dl.doubtnut.com/l/_NKFRaOW5ypkX
https://dl.doubtnut.com/l/_OML0cNkPHxCB
https://dl.doubtnut.com/l/_lYRxKiVuq6L2

63. Check whether x + 3 is a factor of z° + 222 — 5z — 6 or not.

° Watch Video Solution

64. Check whether x-4 is a factor of z° — 322 — 6z + 8 or not.

° Watch Video Solution

65. If x-1is a factor of 42> + 322 — 4z + k, find the value of k.

o Watch Video Solution

66. If 2x-1is a factor of 4z% — 16z2 + 10z + k, find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_wpbwx0mMiVUa
https://dl.doubtnut.com/l/_1EUBJ3N6IRmg
https://dl.doubtnut.com/l/_TUQKcQoonvhJ
https://dl.doubtnut.com/l/_6vkHjn9zX7tV

67. Check whether 2t + 1is a factor of 4¢® + 4t> — ¢ — 1 or not.

o Watch Video Solution

68. If x-4 is a factor of 2° — 522 — pz + 24, find the value of p.

° Watch Video Solution

69. If x-3 is a factor of k%’z® — kx? + 3kx — k, find the value of k.

(k # 0).

° Watch Video Solution

70. Without performing the long division, show that

3zt + 42® — 1222 — = — 30is a multiple of 22 + = — 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_2aB0lg8MCsAA
https://dl.doubtnut.com/l/_fsZrg41YQ3IJ
https://dl.doubtnut.com/l/_HiZ7C5Ql91sd
https://dl.doubtnut.com/l/_9dgHc4VjbxcH

71. Factorise :

102% + 7Tz + 1

o Watch Video Solution

72. Factorise :

502 — 18z — 8

o Watch Video Solution

73. Factorise :

6x> + 13z + 6

o Watch Video Solution



https://dl.doubtnut.com/l/_9dgHc4VjbxcH
https://dl.doubtnut.com/l/_nLZGxpTQEtHh
https://dl.doubtnut.com/l/_Bfb2RUYgZ2O9
https://dl.doubtnut.com/l/_jLFJSdJOlHr9

74. Factorise :

1222+ — 6

o Watch Video Solution

75. Factorise :

222 — 9z — 35

o Watch Video Solution

76. Factorise :

2 + 8z% + 19z + 12

o Watch Video Solution

77. Factorise :

22 — 42 — Tz + 10


https://dl.doubtnut.com/l/_t4daSSgqhXL1
https://dl.doubtnut.com/l/_8EACHHH8CIVA
https://dl.doubtnut.com/l/_hxdWjz03ZMVO
https://dl.doubtnut.com/l/_uASYN8SNRWGq

o Watch Video Solution

78. Factorise :

223 + Tz + 22 — 3

° Watch Video Solution

79. Factorise :

3x% + 1422 — Tz — 10

o Watch Video Solution

80. Factorise :

6z + 1322 + 9z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_uASYN8SNRWGq
https://dl.doubtnut.com/l/_chg1dw9LUQIx
https://dl.doubtnut.com/l/_yaEeju4W7HsH
https://dl.doubtnut.com/l/_jWaWLBE2xh0p
https://dl.doubtnut.com/l/_IxWagNuElQpd

81. Expand :

(2z + 3)(2z — 5)

o Watch Video Solution

82. Expand :

(3z — 2)(3z — 5)

° Watch Video Solution

83. Expand :

(2:1:2 + 1) (2382 + 7)

o Watch Video Solution

84.Expand :

(5z + 2y)(bz + 4y)

[


https://dl.doubtnut.com/l/_IxWagNuElQpd
https://dl.doubtnut.com/l/_19v0Aa9GTNWY
https://dl.doubtnut.com/l/_RODbdOBjpFuW
https://dl.doubtnut.com/l/_49ij56J3AMIF

| @ Watch Video Solution

85. Expand :

(7a + b)(Ta — 3b)

° Watch Video Solution

86. Expand :

(2z + 7)(2z — 7)

o Watch Video Solution

87. Expand :

(5z + 3y)(bz — 3y)

° Watch Video Solution



https://dl.doubtnut.com/l/_49ij56J3AMIF
https://dl.doubtnut.com/l/_rqnsquN2iCj2
https://dl.doubtnut.com/l/_PlNAEuBQ9Xbj
https://dl.doubtnut.com/l/_DLu7WceiAyhu

88. Expand :

(4t + 5)(4t — 5)

o Watch Video Solution

89. Expand :

(5a — 4b)(5a + 4b)

o Watch Video Solution

90. Expand :

1 1 1 1
2" 3Y)\2" 3V

o Watch Video Solution



https://dl.doubtnut.com/l/_8c13QSkUtYAK
https://dl.doubtnut.com/l/_tYZIPD77e4oe
https://dl.doubtnut.com/l/_cAMX3eCDGDFq

91. Expand :

(a + 2b — 3¢)?

o Watch Video Solution

92. Expand :

(5z +y + 22)°

o Watch Video Solution

93. Expand :

(—z—2y+3)°

o Watch Video Solution

94. Expand :

(z + 2y + 72)°


https://dl.doubtnut.com/l/_vzUecK74MO36
https://dl.doubtnut.com/l/_cjpw4MeKd9oY
https://dl.doubtnut.com/l/_2oZRLYxb2bmu
https://dl.doubtnut.com/l/_NrZw78wVKPr8

o Watch Video Solution

95. Expand :

11 __122
2% " 3Y 7 3

° Watch Video Solution

96. Expand :

(2z + 3y)3

o Watch Video Solution

97. Expand :

(4 —y)°

o Watch Video Solution



https://dl.doubtnut.com/l/_NrZw78wVKPr8
https://dl.doubtnut.com/l/_PFsFNCOOERRU
https://dl.doubtnut.com/l/_rk2fU5bmsWWX
https://dl.doubtnut.com/l/_Ail2IYOFAp87
https://dl.doubtnut.com/l/_pmklwlWG3ZOI

98. Expand :

1 1b3
2% 1

° Watch Video Solution

99. Expand :

(3¢ + Ty)°

o Watch Video Solution

100. Evaluate each of the following using proper identity :

82 x 85

o Watch Video Solution

101. Evaluate each of the following using proper identity :

51 x b7


https://dl.doubtnut.com/l/_pmklwlWG3ZOI
https://dl.doubtnut.com/l/_dHSOZMemqonv
https://dl.doubtnut.com/l/_vi6ueM1nlX5w
https://dl.doubtnut.com/l/_gQTGGjRvI99f

° Watch Video Solution

102. Evaluate each of the following using proper identity :

66 x 74

o Watch Video Solution

103. Evaluate each of the following using proper identity :

97 x 103

o Watch Video Solution

104. Evaluate each of the following using proper identity :

(72)?

o Watch Video Solution



https://dl.doubtnut.com/l/_gQTGGjRvI99f
https://dl.doubtnut.com/l/_rJjfCtGYXtzH
https://dl.doubtnut.com/l/_u6JE4KklQRgD
https://dl.doubtnut.com/l/_aVLj4krpz4me
https://dl.doubtnut.com/l/_O83axKIZ0jRU

105. Evaluate each of the following using proper identity :

(98)

o Watch Video Solution

106. Evaluate each of the following using proper identity :

(41)°

o Watch Video Solution

107. Evaluate each of the following using proper identity :

(103)*

° Watch Video Solution

108. Evaluate each of the following using proper identity :

(123)°

[


https://dl.doubtnut.com/l/_O83axKIZ0jRU
https://dl.doubtnut.com/l/_uwpkil3R8Wli
https://dl.doubtnut.com/l/_rQjfyjuRNo4k
https://dl.doubtnut.com/l/_VDcO14J20SMO

| @ Watch Video Solution

109. Evaluate each of the following using proper identity :

(79)°

° Watch Video Solution

110. Factorise :

642> — 81y>

° Watch Video Solution

111. Factorise :

92> — 30zy + 254>

° Watch Video Solution



https://dl.doubtnut.com/l/_VDcO14J20SMO
https://dl.doubtnut.com/l/_qXh4sUJod7Nf
https://dl.doubtnut.com/l/_WndUwCfueBo2
https://dl.doubtnut.com/l/_b7aPVkTBm0vS

112. Factorise :

° Watch Video Solution

113. Factorise :

49z2 + 28zy + 4>

o Watch Video Solution

114. Factorise :

4a? 4+ 9y + 2% + 122y — 6yz — 42z

o Watch Video Solution

115. Factorise :

z? + 4y* + 2522 — 4oy + 20yz — 102z


https://dl.doubtnut.com/l/_2Putj1V33Ni4
https://dl.doubtnut.com/l/_5ajt1lGUTIAE
https://dl.doubtnut.com/l/_flqz47aN4Ovz
https://dl.doubtnut.com/l/_OyLmSOUUuzlS

° Watch Video Solution

116. Factories :

12122 — 289

° Watch Video Solution

117. Factorise :

9 » 3 1,
% T YT Y

o Watch Video Solution

118. Factorise :

92> + 25y% + 4922 — 30zy — T0yz + 422z

o Watch Video Solution



https://dl.doubtnut.com/l/_OyLmSOUUuzlS
https://dl.doubtnut.com/l/_0HwGWQbcjNwc
https://dl.doubtnut.com/l/_7uAj3LedxXt7
https://dl.doubtnut.com/l/_LQKVgqi8Vvq8
https://dl.doubtnut.com/l/_pubg7mgEybeF

119. Factorise :

8a® + 27b% + 36a’b + 54ab?

o Watch Video Solution

120. Factorise :

27x% — 64y° — 10822y + 144zy>

o Watch Video Solution

121. Factorise :

8z° — 125y° — 60zy + 150zy>

° Watch Video Solution

122. Factorise :

8z3 + 27y°

[


https://dl.doubtnut.com/l/_pubg7mgEybeF
https://dl.doubtnut.com/l/_qB1Ntq6zo53O
https://dl.doubtnut.com/l/_pKliMhlfcAV4
https://dl.doubtnut.com/l/_zcOnFs54iTxk

| & Watch Video Solution

123. Factorise :

125z — 64y°

° Watch Video Solution

124. Factorise :

13 1 3
ga +H5b

o Watch Video Solution

125. Factorise :

643 + 125y°

° Watch Video Solution



https://dl.doubtnut.com/l/_zcOnFs54iTxk
https://dl.doubtnut.com/l/_nJOSMxgn0aFC
https://dl.doubtnut.com/l/_72DWIsCkCNsM
https://dl.doubtnut.com/l/_DKzJqafiu8rl

126. Factorise :

3 — 27

o Watch Video Solution

127. Factorise :

a’® + 276° + 64¢® — 36abc

o Watch Video Solution

128. Factorise :

3 4 8y + 642° — 24xyz

o Watch Video Solution

129. Factorise :

8z — 27y® + 2° + 18zyz


https://dl.doubtnut.com/l/_Zy0ERsgFMyD3
https://dl.doubtnut.com/l/_jPFvx43Gvjl9
https://dl.doubtnut.com/l/_b1U0JCzXkJ9e
https://dl.doubtnut.com/l/_nBC3Gjf76MVN

° Watch Video Solution

130. Evaluate each of the following using proper identity :

155 — 9% — 63

o Watch Video Solution

131. Evaluate each of the following using proper identity :

253 — 30% + 53

o Watch Video Solution

132. Evaluate each of the following using proper identity :

18% +12° — 30°

o Watch Video Solution



https://dl.doubtnut.com/l/_nBC3Gjf76MVN
https://dl.doubtnut.com/l/_VaHv9xKYWMu3
https://dl.doubtnut.com/l/_oyZZYLqiChPB
https://dl.doubtnut.com/l/_nROXbm9GldTU
https://dl.doubtnut.com/l/_K8MuUdisUajx

133. Evaluate each of the following using proper identity :

15% + 353 — 50°

o Watch Video Solution

Multiple Choice Questions Mcqs

1.The value of p(z) = 2 + 2® — 3z — 3at x=-1is .....

Al

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_K8MuUdisUajx
https://dl.doubtnut.com/l/_vVTh6IS8GZIp
https://dl.doubtnut.com/l/_2B9WqKYkjS4I

2. For the polynomial p(x), if p(2) = O, then ... is a factor of p(x).

A (z —2)

B.(z + 2)

Answer: B

o Watch Video Solution

3. Dividing 2% + 622 + z + 5 by (x+3), the remainder is ......... .

A2
B.3
C.1

D.O


https://dl.doubtnut.com/l/_2B9WqKYkjS4I
https://dl.doubtnut.com/l/_6a8qeNx7TKT3

Answer: B

° Watch Video Solution

4. ... should be substracted from z°> + 322 + 2z + 10, so that the

result is exactly divisible by (x+3).

Al
B.2
C.3

D.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6a8qeNx7TKT3
https://dl.doubtnut.com/l/_1Isx7bxOSxyk

L T should be added to z — 522 + = — 8, so that the result is

exactly divisible by (x-5).

A2

D.3

Answer: C

° Watch Video Solution

 SX— is one of the zeros of the polynomial 3 — 6z + 2z — 12.

A2

C.6


https://dl.doubtnut.com/l/_6OeBkTHffW73
https://dl.doubtnut.com/l/_vaDTcj0vrvB6

Answer:

° Watch Video Solution

7.1f x+3 is a factor of z° + 622 + 11z + k,then k =.

A2
B.3
C.4

D.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vaDTcj0vrvB6
https://dl.doubtnut.com/l/_jQyy8AzjnPFd

8. . Should be added to z? — 8, so that the result is exactly

divisible by (x+3).

Al

Answer: A

° Watch Video Solution

9. Find the value of k, if x-11is a factor of 42> + 3z — 4z + k.

A4
B.1

C.3


https://dl.doubtnut.com/l/_pyWFG8fEA9ai
https://dl.doubtnut.com/l/_fnXmbPaYJEWv

Answer: C

° Watch Video Solution

10. ............ is one of the factors of
2z + 2% — 142% — 19z — 6.
A (xz —1)
B.(zx + 1)
C.(z +3)

D. (z — 2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fnXmbPaYJEWv
https://dl.doubtnut.com/l/_aHUxtYAl1DLf

11.When z® + 64 is divided by x+4, the quotient is ........ .

A (z —4)
B.(z + 8)
C.(z + 16)

D.z%2 — 4z + 16

Answer: A::B::D

o Watch Video Solution

1222° + 322 + 32 + 2 = (2 + 2) ()

Ax—2
B.x2—|—1
Czl—-z-1

D.x2—|—:1:—|—1


https://dl.doubtnut.com/l/_KOvMXPJ6cPnB
https://dl.doubtnut.com/l/_iKzjrDjpMiuO

Answer: A::B

° Watch Video Solution

13.The factors of 22 — = — 12 are.......... .

A (z + 6) and (z — 2)

B.(z — 4) and (z — 3)

C.(z +4) and (z + 3)

D.(z —4) and (z + 3)

Answer: A::C::D

o Watch Video Solution

14. The factors of z2 — 100 are .......... .

A (xz —20) and (z — 5)


https://dl.doubtnut.com/l/_iKzjrDjpMiuO
https://dl.doubtnut.com/l/_FJTnTfoCGZD7
https://dl.doubtnut.com/l/_Xj4hfVakVgoT

B.(z — 25) and (z — 4)
C. (z — 10)?

D. (z + 10) ad (z — 10)

Answer: A::D

° Watch Video Solution

1
15.$2—2+—2=

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_Xj4hfVakVgoT
https://dl.doubtnut.com/l/_IUyIUQZ3cGSy

16.1f 2 + mz — 28 = (z — 7)(z + 4),then m =........ .

A3

cn

D.—11

Answer: C

° Watch Video Solution

17.105 x 95

A.9500

B. 10500

C. 9925


https://dl.doubtnut.com/l/_IUyIUQZ3cGSy
https://dl.doubtnut.com/l/_3lFd17LlPHDA
https://dl.doubtnut.com/l/_WxQdF8e7f4k6

D. 9975

Answer:

° Watch Video Solution

B.3300

C. 33000

D. 13,31,000

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_WxQdF8e7f4k6
https://dl.doubtnut.com/l/_kdhrLFkWCo9u

19. Evaluate each of the following using proper identity :

153 — 9% — 63

A. 1215

B. 2430

C. —810

D. 810

Answer: B::C::D

° Watch Video Solution

20. If x + 3 is one of the factors z° + 222 —ax — 18thena=... .

A3

C.9


https://dl.doubtnut.com/l/_2dpIYwC1Oiv4
https://dl.doubtnut.com/l/_XIzQSXCrOFUm

Answer: 9

o Watch Video Solution



https://dl.doubtnut.com/l/_XIzQSXCrOFUm

